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QUESTION 1

In the SteelHead Mobile client application, the Connection List shows a connection with a green arrow. What does this
indicate? 

A. A branch warning optimized connection 

B. A branch mode optimized connection 

C. An unlicensed connection 

D. A pass-through connection 

E. A normal optimized connection 

Correct Answer: B 

 

QUESTION 2

What port number is configured on a Steelhead appliance to communicate to the TACACS+ server? 

A. 1645 

B. 1646 

C. 1812 

D. 389 

E. 49 

Correct Answer: E 

 

QUESTION 3

Which of the following commands followed by "write memory" will allow you to turn off in-path optimization but turn it
back on upon rebooting the Steelhead appliance? 

A. no in-path enable 

B. restart clean 

C. reload 

D. no service enable 

E. no interface in-path0_0 enable 

Correct Answer: D 
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QUESTION 4

Which of the following statements are true about server-side out-of-path deployments? (Select 4) 

A. They require no routing changes 

B. They require the use of WCCP or PBR for traffic redirection 

C. They hide the original client IP address from the server 

D. They require the use of a fixed-target rule on the client-side Steelhead appliance 

E. They require the use of either physical in-path or virtual in-path on the client-side Steelhead appliance 

Correct Answer: ACDE 

 

QUESTION 5

A customer wants to optimize traffic from remote VPN sites to DMZ servers in the data center shown in the
accompanying exhibit. 

The customer would also like to deploy their data center Steelhead appliance in a way that would allow them to keep
transparency to the LAN servers, and allow the LAN servers to initiate optimized connections to remote sites. The
current network architecture can satisfy these requirements by using which following deployment method? 

A. In-path 

B. Out-of-path 

C. WCCP/PBR 

D. Hybrid Mode 

E. C and D 

Correct Answer: D 
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